-7

e, T s e
odd ? ]
(a) 625
(b) 400
(c) 196
(d) 120

"
2. What is zer(N- r) equal to 9
r=0
@ 2"
(b) 3"
(c) 2%
@ 3*

3. If different permutations of the letters
of the word ‘MATHEMATICS’ are
listed as in a dictionary, how many
words (with or without meaning) are
there in the list before the first word
that starts with C?

(a) 302400
(b) 403600
(c) 907200
(d) 1814400

4. Consider the following statements :

1. If f'is the subset of Zx Z defined
by f={(y, x—y); x,y € Z}, then

fis a function from Z to Z.

2. If fis the subset of N x N defined
by f= {(xy, x +); x,y € N}, then

fis a function from N to N.

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

5. Consider the determinant

ay a4 43
a; 4ax 92
ay 4z 4933

A=

If ay3=yz, Gy3=2% a33=% and the

minors of a3, @33, d33 ar¢ respectively
(z—y), (z-x), (y—x) then what is the
value of A ?

(@ (-y)z—x)y—x)
®) x-y)y-z)x-2)
(c) x=yY)z=x)y—-2Axty+2)

(d) (y+yz+zx)x+y+z)

1 0 0 e
6.If A=|0 cos@ sin@ |, then which
0 sinf -—cosf

of the following are correct ?
1. A+ adjA 1s a null matrix
2. A' + adjA is a null matrix
3, A— A" is a null matrix

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

A — DFRG-S-MTH







13. Let 4= {7,8,9, 10, 11, 12, 13, 14, 15
16} and let f: 4 - N be dcﬁncc‘l b):
f{x)=the highest prime factor of x
How many elements are there in u;;;
range of /?

(a) 4

~(b) 3

(c) 6

(d 7
14. Let R be a relation from N to N defined
by R={(x,y):x,y € N and x*=)}.

Which of the following are mnot
correct ?

l. (x,x)eRforallxe N
2. x,y eR=>(,x)eR

3. (x,») € Rand
(,z2)eR=>(x,2) eR

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2and3

15. Consider the following :
1. ANB=ANC=>B=C
2. AUB=4AUC=>B=C
Which of the above is/are correct ?
Aa) 1 only
(b) 2 only
(c) Both I and 2
(d) Neither 1 nor 2

nsider the following for the next three
(03) items that follow :

Co

Let z=!l—+-i%ii:—g? where i =+-1
—i

16. What is the modulus of z7

(a) 1
) 2
(c) 1+sin’0

1+sin’@

—

(d) 1- sin’@

17. What is angle 6 such that z is purely
real 7

(@ 5

S
(c) nm
(d) 2nrm only

where n is an integer

18. What is angle 6 such that z is purely
imaginary ?

@

2n+ 1)1t
® S

(c) nm
(d) 2nm

where n is an integer
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. base AB of an cquilatcral triangle
C v h side Bcm lies along the

¢ the mid-point of AB is

and B lies above the

SS. If 142(sin +
(sin x + COS X)(sin x — cosx) =0 &g, Th

where () < y
X < 360° . bl
values does x A i then how many AH(,._ witl :
! y-axis guch tha

: igin /
(a) Only one value m.l:]: ::rfag is the equation of line

origm. ] d parallel to
(b) Only two values pasSiﬂS through (8, 0) and p

the side AC?

(¢) Only three values
A = 3 _8:0

(d) Four values g i

) x+V3y-8=0

5§6. Consider the following statements in
respect of‘ the line passing through (c) ‘GI-'-'V_B\E =0
origin and inclining at an angle of 75°
with the positive direction of x-axis - (d) \ﬁ-‘f“y"gﬁ =

L. The line passes through the point : .
59. The centre of the circle passing

. l = P
(L 2- ’1]' through origin and making pOS‘lllVC
| o intercepts 4 and 6 on the coordinate
axes, lies on the line

2. The line entirely lies in first and
third quadrants. (@ 2x-y+1=0

Which of the statements given above (b) 3x-2y-1=0
is/are correct ?
(¢) 3x—4y+6=0

(a) 1 only
d) 2x+3y-26=0
(b) 2 only (“ %
(c) Both 1 and 2 60. The centre of an ellipse is at (0, 0),
‘ major axis is on the y-axis. If the
(d) Neither | nor 2 ellipse passes through (3, 2) and (1, 6),

then what is its eccentricity ?
57. If P(3,4) is the mid-point of a line

segment between the axes, then what is (a) ﬂ
the equation of the line ? 2
(a) 3x+4y-25=0 (b) V3
(b) 4x+3y-24=0

© B
(c) 4x-3y=0 2
(d) 3x-4y+7=0 d s

21
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